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oK # X A HEH 5 £ it

001 T & B 506 535 626 1,161
002 a x iy} 714 788 817 1,605
03| + #H H fr 355 330 318 648
004 | = % i) 949 1,130 1,075 2,205
005 | X R i) 711 798 866 1,664
006 | £ & F M 1,340 1,533 1,471 3,004
007 | #& B i) 167 233 193 426
008 | 5 it i) 796 869 939 1,808
009 | K & i) 555 716 722 1,438
010 | & H i) 1,174 1,466 1,543 3,009
ol | £ B F H 733 835 862 1,697
012 | # i) 896 1,092 1,270 2,362
013 | 3h H i) 568 702 768 1,470
014 | & R i) 853 1,000 1,038 2,038
015 | & BX i) 115 132 161 293
061 XRHE—TH 30 29 20 49
062 | X B —TH 225 204 198 402
063 | XFEHET=TBH 13 30 38 68
064 | XFET M TH 91 80 113 193
0711 | X% AE—TH 33 28 33 61
072 | £HBABR_-TH 231 223 202 425

A

a-F| # X £ ks 3 = g
081 mE — TBH 0 0 0 0
082 | M BT — T B 27 763 73 836
083 | M8 BT = T H 161 151 162 313
091 | Az BT — T B 80 77 96 173
092 | s BT = T B 86 235 376 611
101 A E—TBH 109 109 99 208
111 +tEHE—TEH 105 124 108 232
112 +TESHEZ-TH 81 67 64 131
113 | rEHB=TH 100 102 109 211
114 | FEHBWTH 155 150 164 314
115 | FEHBATH 141 115 151 266
116 | FEHBEIATH 146 122 134 256
117 | rEHBETH 124 135 157 292
118 | +EHBEIATEH 158 156 145 301
121 EBFH—TH 71 63 81 144
122 EBFHM_-TH 52 64 66 130
123 EBFH=TEH 66 61 77 138
124 | EBRFHEOTH 68 70 53 123
125 | EBEFEATH 83 94 95 189
126 | EEFEIATH 138 120 123 243
127 | EBFELETH 138 94 140 234

& it 13,144 15,625 15,746 31,371




